&b AF R E A

BN AYE
I 20E =R ME 2
B9l 49 BI=XME 2 F0KXS 29 CER-ED)
=S 245,670 254,488 8,818
L0E BF=NHH 29 175,890 176,572 682
A0S HRENME L =KX 29 171,870 171,712 158
SUIE E TMCHH 22l 115,680 115,680 0
301 YBHED 114,880 114,880 0
04 AISEEALI XS 1,560 1,560 0
O NSUHHS OFHES 2HAlH|
3,000 » 102 * 52z 1,560
05ER- X - HNESHAS 112,320 112,320 0
O E& 45 o 2=y 112,320
—sxag 300,000 * 243 * 128 86,400
PN 300,000 * 248 * 23| 14,400
—sx3)0 oy
20,000 * 248 * 28] * i2% 11,520
12 J|EIE &2 1,000 1,000 0
O ToIRSYAE BERAR ’ 1,000
307 BIZHO| & 800 800 0
02 BIZIE AN R E 800 800 0
O € ZHH X 800
CIRIE 2 6,785 6,785 0
201 et HH| 6,785 6,785 0
01 AR &2l bl 6,785 6,785 0
O 1. gBragy 6,785
—plYYRs DR EUY
250,000 = 20§ = 33 1,500
—OIET| ARE 30,000 * 103 300
—DIRY DT =ALSXI (M) 20,000 * 508tA 1,000
—DIRIeE MAE({ 200,000 ~ 201 ~ 23 800
—EgsdE83l EH 220,000 * 201 * 33 1,320
—EEs8HYZI| & 132,000 * 204 * 274 528
—EsEgwa)| MMAD
27,500 * 20} * 35 165
—ssxgea)| 2EeX
220,000 = 2CH = f&+A 440
—=BIIJ|E &1 104,500 * 79¢A 732
HMSTME S U FH HE 25,918 33,318 A7,400
201 LB H| 10,618 10,018 600
01 AL Z2IH| 4,032 3,432 600
O 6. iz 4,032
— 2 A 110,000 » 2CH * 128 2,640
—g3d T 66,000 = 1CH » 128 792
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+gs
L6 BHNME 29
LS SHENME Y FONKE 2 SERED
EOIEOOIA)
0,000 * 1CH * 128 600
02 B229H| 6,586 6,586 0
O1.22e2 % MA 66
_pigy gAY SA
5,500 * 1A » 128 66
O 3. AERHISK b 4,520
—20IAHAIAE 2| 130,000 ~ 128 1,560
—plga 49| X
40,000 » 204 = 128 960
—=oIME S 2,000
O 4. & - AEHHI 2,000
—geg 2 21 2,000
401 AjEHI Y2 THHI 4,000 23,000 19,000
01 Al H] 4,000 23,000 19,000
O A&H 2 2oyl 4,000
—AUEN O HE X4 2,200
—~=HEAN FH HH HOE &M 1,800
405 XA S| 11,300 300 1,000
01 MY BESHSHI 11,300 300 11,000
O Yo A=)] 700,000 = 1CH 700
O 2Xoiaal L Witer)) 3,000,000 = 1CH 3,000
O -&=H DA 7,600
T 850,000 * 1CH 850
-LES 1,500,000 » 1Cj 1,500
—H T2 E 5,100,000 » 1CH 5,100
—SH OENE 50,000 * 17} 150
oSy =2 Yoy =Y 18,973 15,929 3,044
101 1248 7,877 14,863 2,514
B EE TS 17,877 14,863 2,514
O woigh ol 16,057
e 43,472 + 3% * 882 11,477
- B 43,472 * 3 » 228 2,870
-~ REZ 15,667,000 * 4.5% 706
—SoxzRsa 15,667,000 * 3.43% 538
—LCOIEIQVLET 537,380 * 11.5%% 62
—ngesd 15,667,000 * 1.65% 259
—MIHEE 15,667,000 * 0.92% 145
O ol 2HAlH| 5,000 * 38 * 88 1,320
206 W= bl 1,596 1,066 530
01 Mz bl 1,59 1,066 530
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SN 2HE
HY: 2UE NN ME 2
CHgl: 4UE HHAME ¥ FOUXXE 29 (9 Q)
O EISFE 25,000 * 0.14 = 3% * 1763 1,320
O Yoz 276
—JjoI=b| 2,000 * 3% » 88 * 1/3 176
—goADE 100
LUBLCAT FXRISY 4,514 0 4,514
101 Q1244 4,514 0 4,514
04 JI2AHRRNSES 4,514 0 4,514
O +YTTAR =X 12| 4,114
— ol 43,472 * 1% » 202 * 43] 3,478
—E=xag 43,472 + 12 * 32 43 522
—nEYE 1,099,810 * 1.65% * 43] 73
— AT 1,009,810 * 0.92% * 43 41
O $YTTAR F=XQ 2|
5,0008 * 19 * 202 * 43| 400
SOIDbe EASX MHIA 4,020 4,860 N
HOPls BASX AMHIA 243 4,020 4,860 AB40
201 LEr o 4,020 4,260 A240
01 A2 2l 2,700 2,820 A120
O 1. gursgy| 2,700
~pi2Ee 3oy 50,000 * 128 600
—FOIHs 2RI AHlA 8= 1,570
CBHSE M= 1,000,000 * 13| 1,000
BRI MR S 150,000 * 13l 150
SES0 MR S 70,000 * 63 420
—B2UHE ADE 530
- HIE MR 40,000 * 128 480
- HEHIRUS 22 10,000 * 574 50
02 222l 1,320 1,440 A120
O 1. 2222 ¢ HA 1,320
—Z2UYEH HII, A, LER2
110,000 * 128 1,320
HESAAH| (4 HE) 69,780 77,916 28,136
IR (+ES) 69,780 77,916 28,136
I =R (+YS) 69,780 77,916 18,136
201 Lere gl 29,084 28,484 600
01 A2 2l 13,546 13,066 480
O 1. getagH| 8,170
—2ASY |2 +2H| 2,500
—ARE =ZABX (M)
20,000 * 52tA * 128 1,200
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250,000 * 404 = 33 3,000
—A2U(SLX) 20,000 » 15 » 128 240
—AN2H2(X X)) 15,000 ~ 15 ~ 128 180
— 820 HEH 70,000 » 153] 1,050
O 5. 24| 5,376
— &3 | 8,000 * 13 * 44! « 128 4,992
~MIAXK/A(EH0LIA) Sl
8,000 » 18 * 44 % 128 384
02 B2l 15,538 15,418 120
O 1. 8822 & HA 15,538 |
—-22HR 3 400,000 » 128 4,800
—-®Je=s 550,000 ~ 12& 6,600
—NINQB(EINIEEI]) 50,000 « 128 600
— Mot 22 70,000 = 128 840
—3S38 E0E = 40,000 » 10§ = 128 480
~KNSIN(BEX, AR 210,000 * 18l 210
—AEE eI Rg= 75,000 = 28] 150
— &IOSl ol E& 100,000 * 18] 100
—30I8 TV &40 E 9,000 = 128 108
~NEX HER (2SR, HIR)
1,500,000 = 13} 1,500
—dH3X A &1 150,000 = 13 150
202 Ol 30,576 39,312 28,736
01 =i bl 30,576 39,312 28,736
O #U s&80Yl
20,000 = 132 « 142 » 128 * 0.7 30,576
203 2 EAH| 10,120 10,120 0
01 | 2R EYRFEH| 6,600 6,600 0
C s& 6,600,000 » 1H 6,600
02 HRIIAHRERH| 520 520 0
O ERJAJNNNLYRFEAYI 40,000 = 13% 520
04 BA2EHRFAY 3,000 3,000 0
O BEA2EY R 250,000 + 128 3,000
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